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A 3E2SA
Ha: HPs OTe NE(YUDIHUF/ALHT)
ool NHFEE =7 CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
oY AMNE My 5,000,000& 5,000
AMOIEES WS 22,000 21,000 1,000
201 Lt 4,000 4,000 0
01 At 22l 4,000 4,000 0
OARIZEES NS WHH & AILIHEE 2SI
4,000,000& 4,000
301 et d = 18,000 17,000 1,000
MIIEEd= 18,000 17,000 1,000
OANREESNEE ¥ ALHEZHEH 2AIE(
3y) 18,000, 000& 18,000
CoFEES WE 2% 8,000 8,000 0
< 2,000
Al 6,000
301 et d = 8,000 8,000 0
< 2,000
Al 6,000
MIEEd=s 8,000 8,000 0
OLREBsus 2AZ 8,000,000& 8,000
< 2,000
Al 6,000
2350t 483 XA 10,000 20,000 A 10,000
< 3,000
Al 7,000
201 Let2d] 6,000 5,000 1,000
< 2,000
Al 4,000
01 At 22l 5,000 4,000 1,000
O&E=s0S 243 24| 5,000,000& 5,000
< 1,500
Al 3,500
03 A2 Z Hl 1,000 1,000 0
OZEs0E F2AMUE =l 1,000,000& 1,000
< 500
Al 500
301 et a =z 4,000 4,000 0
< 1,000
Al 3,000
09 &AL HIB &S 4,000 4,000 0
O&dEs0s #4dst AU E4= 4,000,000 4,000
< 1,000
Al 3,000
dEs0tE Z208 22k 4 16,340 16,500 A 160
= 3,360
< 3,024
Al 9,956




A 3E2SA
Ha: HPs OTe NE(YUDIHUF/ALHT)
ool NHFEE =7 CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
307 glz2tol & 16,340 16,500 A 160
2 3,360
< 3,024
Al 9,956
02 P HAMHEE 16,340 16,500 A 160
OFE30IE T2 22X 54
16,340,000& 16,340
2 3,360
= 3,024
Al 9,956
2SS4y &= 3,573,477 1,924,489 1,648,988
= 10,531
< 38,590
Al 3,524,356
Mo 2 SotAIAE 29 1,450,900 409,271 1,041,629
201 £B-2dH| 185,900 189,271 A 3,371
01 At 22l 10,000 10,000 0
O Et==EH| 8,000,000& 8,000
O= &l 2,000,000& 2,000
02 =24l 175,900 179,271 A 3,371
OdA L HOotAAE SXES 175,900
oc2UCtAIAE RAES 32,351,000 32,351
CURYRE ASEALAEH FXNE
5,928,000 5,928
cIIEEES ¥ 2MEQ ORM R 2+
20,062,000 20,062
OB XTIIAMMEEIANAY SANE
3,171,000 3,171
cl1SEE30tS EWO0IX 2= RAE*
4,000,000& 4,000
cdMNH EAIAE |FXE= 17,736,000 17,736
ocRobIALZI| FANE =+ 16,205,000& 16,205
CSEWHAAEH SRAE= 11,204,000& 11,204
SCAHEAZERN RAE=>
19,910,000& 19,910
cMESU&M 7XE+ 4,877,000 4,877
cIHIEERE L FAGHAIAE(UTM) B X
24 4,443,000 4,443
cEMHSEAMNAHE SXNES 8,973,000 8,973
=g EHOXN RANE= 18,400,000 18,400
SANAEEIZMA &L BIZLHS Z22ALAE R
XE= 3,242,000& 3,242
oMHEBAAYE RIS 3,875,000 3,875
= LHPC XI310I 1,523,000& 1,523
207 A O] 15,000 193,000 A 178,000
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ool HBEAY 25 CER-ED
- _ _ RE]
S EH B (BH) - MBAY - BAS Ol At o %@ﬁ HRE2
02 & AHJH Y| 15,000 103,000 A 88,000
OCIXEDLNH S 25 15,000,000 15,000
401 Al HI L £ 0HHI 150,000 0 150,000
01 Al& H| 150,000 0 150,000
OXAA SHAHIMNE 2F 150,000,000 150,000
405 XHA&HF S HI 1,100,000 27,000 1,073,000
01 XA 2 FF S| 1,100,000 27,000 1,073,000
OBHADN ALY S HH 25
150,000,000 150,000
OMUUE HEHOE & ¥ AXl
150,000,000 150,000
OJ AKX HAAAE NZ 700,000,000& 700,000
Os8 S B 22 AAE 2=
100,000,000 100,000
2ol01aeZ I 22 80,000 39,610 40,390
201 LBt 30,000 19,610 10,390
01 AP 22| H| 15,000 14,610 390
oLt 2H| 15,000
o2ol0lAYLZ)| RO AU = 13,200,000& 13,200
oRNAATI| B L 42F 7Y
1,800,000 1,800
02 =224 H| 15,000 5,000 10,000
ORololAUIEA SHFHY| 15,000,000& 15,000
405 XHoHFE S HI 50,000 20,000 30,000
01 XA 2B F S| 50,000 20,000 30,000
ORolIALZI| WH 50,000,000 50,000
HEE PC 2 153,000 123,000 30,000
201 et d9d| 3,000 3,000 0
02 E=22%H| 3,000 3,000 0
OZ1IPC M6 € KA 22|
3,000,000& 3,000
405 XH&HF S HI 150,000 120,000 30,000
01 XAt =B F S HI 150,000 120,000 30,000
oOg2E PC #¢ 150,000,000 150,000
HE=2 ATEYN 22 105,300 89,062 16,238
201 gBt2A | 105,300 57,062 48,238
01 AP 2t 2| H| 105,300 57,062 48,238
OHOlHA & AAHDE XS X2TZ208 2
Q! 33,300,000 33,300
ogetdz S/W 2 72,000
oMS @I A 44 000,000 44,000
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AOXEHH SSEEHUHSHA =X 11,545 15,601 A 4,056
2 2,658
Al 8,887
201 Let249] 11,545 15,601 A 4,056
= 2,658
Al 8,887
01 At 22l 11,545 15,601 A 4,056
OANZMHH=ERAIAE LXZ 11,545,000 11,545
= 2,658
Al 8,887
XS SSHEHUSHMA 2SXE(XA) 30,000 0 30,000
405 RHoHF S HI 30,000 0 30,000
01 AL EZFH S 30,000 0 30,000
OANZ+ MolE2AAE AECX B4
30,000,000& 30,000
ANZREHIAIAE (22U 22X 125,300 119,248 6,052
308 AHAIEHHSOIA 125,300 119,248 6,052
10 B2 S0t B & XA 125,300 119,248 6,052
ONZTHIFZBHMABH S E S 97,000
o Z SIS X2 == (H/W,S/W)  84,406,000& 84,406
o B SIIBAIAE 23] 4,245,000 4,245
oANZRAHHERAIAE 2HHl 1,349,000 1,349
cMS3EFAAE MHAHAR 29
7,000,000& 7,000
OREIZ0NAY SERIES A
5,300,000 5,300
O=2LIetAl A8 AHIANHAT NFER /S
23,000,000& 23,000
ANXEH S0 =& v N 28,901 28,901 0
= 7,873
Al 21,028
201 Let24d] 28,901 28,901 0
= 7,873
Al 21,028
01 AP 2teltl 28,901 28,901 0
OXXICHH SSIIELAIAE A=
28,901,000& 28,901
= 7,873
Al 21,028
XS SSI/8r =24 DA X2 (XA 52,000 0 52,000
403 XIS E X201 & 52,000 0 52,000
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A 3E2SA

M Y5 oTe DE(LUTTHT/AUBE)

& FESAY &35 (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
SESRHAHUDY &5 332,000 62,000 270,000

201 £B-2d| 32,000 12,000 20,000
02 =224l 32,000 12,000 20,000
033 RHEAHY (Wi-Fi)ald=Z 32,000,000 32,000
401 A& HIZ 201 Y] 300,000 50,000 250,000
01 Al&tl 300,000 50,000 250,000
OZTZRHAHUL(Wi-Fi) =5
300,000, 000& 300,000
SHEXNYE ZUHGIIS Y 2= A 17,505 0 17,505
< 5,251
Al 12,254
402 RI2FX =01 M 17,505 0 17,505
< 5,251
Al 12,254
02 QI EAILSEZ (01X THS) 17,505 0 17,505
OsSHEXSE 2UHAINYTUY A=A
17,505, 000& 17,505
< 5,251
Al 12,254
SEZHAEH 2l 2,640,414 2,021,400 619,014
CCTVEs2HdE 29 2,404,554 1,726,792 677,762
201 £B-2dH| 1,261,854 776,792 485,062
01 At 22l 27,426 20,792 6,634
O Et==EH| 27,426
o(CCTVE &2 M dE =Xl 4,000,000& 4,000
o(CCTVE S 2t M ME QtEIHIOIHAA 1EAIES A
- OH 22,709,000 22,709
o(CCTVE 2t MMEH SI1EEI| 22l
717,000& "7
02 =24l 1,234,428 756,000 478,428
OZ232SLAA 444,428
oZtL CCTVAIAE IS (MeEdd T2
€S 210004) 40,000,000& 40,000
oCCTVEE2MHE Y sldz
6,000,000& 6,000
oGV 23l d 398,428,000 398,428
O A& &EHl s Xl 790,000
o(CCTVE &2 MHEH S22+ 100,000,000& 100,000
o2t CCTVAIAE S X2 200,000,000 200,000
o(C(TVEE2ANAEH 2UEHEHRE Y
490,000,000& 490,000
401 Al HI K 201 I 873,700 850,000 23,700
01 Al&HI 873,700 850,000 23,700




M ZE2SM D

o HPs OTe NE(YVDIHF/ALHT)
Sl SEHREAMME 22 (Se:ae)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
O28 =X CCTV IHA & AHIA
141,200, 000& 141,200
O0lsg =gMdDl FII2X CCTV £X S At
30,000,000& 30,000
OLZEXNEH(Z2)eY CCTV WA AL
217,500,000 217,500
O&l7 eyl o SJALHE CCTV XA
140,000, 000& 140,000
L% CCTVAIAE WAt 345,000, 000& 345,000
405 XHoHE S HI 269,000 100,000 169,000
01 et EFSFHSHI 269,000 100,000 169,000
OCCTVE S 2 MM MU SANEE HEHEX S
o 100,000, 000& 100,000
OMAINMNEE ZAIAIAE Z4 20,000,000 20,000
OSEZHEH F2HAANAE 2=
43,000,000 43,000
OSEMHH M/ AH &4
44,000,000 44,000
OsSg2M4dH el olss =
62,000,000 62,000
CCTVE S 2 HMHEH 2l (NSHISE3AH) 235,860 250, 368 A 14,508
201 Let24d] 233,952 250, 368 AN 16,416
02 =224l 233,952 250, 368 216,416
OxSsw C(CTVEE2MAEH HAHZER
19,008, 000& 19,008
OxSsw CCTVE2MAEH SHH 2LIHE &
= 214,944,000& 214,944
802 Btet = DI Et 1,908 0 1,908
(SN =R=g=g= 1,908 0 1,908
OxSsw ZHEEH AAsIHdz ZH &N Br
1,908,000& 1,908
HY2AZH (B2SA M) (IIEH/IIEL 51,320 0 51,320
Jl23 4l 51,320 0 51,320
JI23l 51,320 0 51,320
201 L2l 8,000 0 8,000
01 At 2t 2l 8,000 0 8,000
O el 5,000,000& 5,000
O= &l 3,000,000& 3,000
202 O4dl 40,320 0 40,320
01 =S LHA YI 40,320 0 40,320
O=UWEZE I 240,000& x14H x 123 40,320
203 YR =&t 3,000 0 3,000
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